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4.3 HW answers
y=-(x)?-6
y=-3x+3)2+7
y=7(x—10)> -6
y=—s(x+9?%+3

. f(x)=4(x—-3)(x—6)
Cf)=(x+15)(x+7)

f) = 2@x+4)(x—7)

.f(x)=%x2+x—7

) =X = Tx -
Cf(x) = —2x%+ 14
Cfx) =x%+16

flx) = —x?-36
y=-2(x—-4)>-3
.y =4(x+3)>-9
.y=%@+5Xx—@
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y=—sE+3)E-1)
ory = —%(x+1)2+6
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.y=—5x2—3x+5
.y =—x%+8x—12
y=(x-2)(x—4)
y=x?>-6x+8
y=(x-3)2-1
y=(x+5)(x—-2)
y=x2+4+3x—-10

_ 3., 49
y—(x+§) Y
. vertex: (—1,-9)

zeroes: (2,0),(—4,0)

y-int: (0, —8)

. ) = (x=V2)(x +v2)
. flx)=3x?-—6x-2

axis of symmetry: x = —1

domain: (—oo, )
range: [—9, )
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y-int: (0, 0)

axis of symmetry: x = 1
domain: (—oo, 00)
range: [—1, 00)
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y-int: (0,9)

axis of symmetry: x = 2
domain: (—oo, 00)
range: [—3, )
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vertex: (—4,4)
zeroes: (—2,0),(—6,0)

28. vertex: (0,—2)
zeroes: (1,0),(—1,0)
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. vertex: (1,—1)
zeroes: (2,0),(0,0)

y-int: (0,—12) _
axis of symmetry: x = —4 y—|.nt: (0,-2)
domain: (—oo, o) axis m“ symmetry: x =0
) domain: (—oo, 00)
range: (—oo, 41\_ range: [—2, o)
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26. vertex: (6,2) m
zeroes: (8,0), (4,0) 29.
y-int: (0,—16) a.
axis of symmetry: x = 6 b. Maximum, ais
domain: (—oo, ) negative
range: (—oo, 2] c. 2013
¥ d. 186.822 million
o metric tons
| 30.
ST e. A=40x—2x?
f. 10 feet by 20 feet
— f —F— = x 8. 200ft2
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vertex: (2,—3)
zeroes: (1,0),(3,0)



